DM & Background signal

DM: u*u~™ — xxZ, Z - qq, 11~

Background: utu- —» Zvv, Z - qq, 11"




Missing Mass & Missing ET
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Missing Mass & Missing ET
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Missing Mass & Missing ET
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Missing Mass & Missing ET

\/— ¥%xZ :mu+ mu- > chin chin~ z, z > |+ |-
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WWZ MU+ MU- > W+ W- Z, W+ > |+ vl, w- > |- vl~, z > vl vi~
ZzZy :mu+mu->zza,z> l+ -, z>vlvi~

ZZZ mu+mu->zz2z,z>l4+l-, z>vlvl~, z>vlvl~
WWY MU+ mu- > W+ W- a, W+ > |+ vl, w- > |- v~
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Missing Mass & Missing ET

Selection: Missing ET < 1 TeV & Missing Mass > 1.6 TeV

s = 3TeV, m = 0.8 TeV, Integrated Luminosity = 1ab' Is=3TeV, m = 0.8 TeV, Integrated Luminosity = 1ab'

MU+ Mu- > chin chin- z, 2 > I+ |

¥¥Z :mu+ mu- > chin chin~z, z > |+ |-
e ZZ MU+ Mu->22,z >+ |-, 2> vivl~
I~ 2> vivi~ WWZ MU+ MU- > W+ W- 2, W > [+ vl w- > |- v~ z > vl vi~
zzy'mu+mu->zza, z>l+l-, z>vlvi~
zzz MU+ mu->22z2, 2>+, z>vlvl~, z>vlivi~
WWY [MU+ MU- > W+ W- a, W+ > [+ vl, w- > |- vI~
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